O 20218td % 2=AAxHEY AA A -1 DIT S astueta

CEEE =g3a =28y
sty Bl R B sty Bl R B
Eigni xl N 1 b 1 N
Ul B4 lga| g @4 a2 el 8¢ g o 8% 32
Ha 100 | 4.1 169.0/20.0| - - - 89.0 100 | 2.5 |74.8/20.0| - - - 94.8
Al & X 4.6 4.6
ENES 100 | 5.2 |65.0/20.0| - - - 85.0 100 | 4.6 |68.0/20.0| - - - 88.0
_ Ha 100 | 5.4 |165.0/20.0| - - - 85.0 100 | 3.6 |71.0/18.8| - - - 89.8
AFHZE 5.0 9.4
ENES 100 | 5.4 |165.0/20.0| - - - 85.0 100 | 4.6 |68.0|14.0| - - - 82.0
Ha 100 | 4.5 168.0/19.3| - - - 87.3 100 | 3.9 |169.5/20.0| - - - 89.5
S2HEB XA 0.8 6.8
ENES 100 | 4.7 |68.0|17.0| - - - 85.0 100 | 4.6 |68.0/20.0| - - - 88.0
Ha 100 | 6.4 |63.0/ 6.7 | - - - 69.7 100 | 3.5 |71.5|17.4| - - - 88.9
JIAHAHZ 7.1 7.5
ENES 100 | 7.7 {59.0|/ 0.0 | - - - 59.0 100 | 7.8 {59.0| 0.0 | - - - 59.0
Ha 100 | 5.5 |165.3/19.4| - - - 84.7 100 | 4.2 |69.1|14.5| - - - 83.5
A 8HOFM e 1t 4.0 6.6
ENES 100 | 7.1 |59.0|17.0 - - - 76.0 100 | 7.0 |62.0| 0.0 | - - - 62.0
~ Ha 100 | 5.6 |64.7|16.9| - - - 81.6 100 | 3.8 |70.6|14.2| - - - 84.7
ASXAHGE 2.6 3.7
ENES 100 | 7.7 {59.0]/ 0.0 | - - - 59.0 100 | 5.4 |65.0|/ 0.0 | - - - 65.0
g 100 | 5.6 |65.4|18.3| - - - 83.7 100 | 3.1 |72.2|16.1| - - - 88.3
&) 5.4 5.8
ESES 100 | 7.0 |62.0|11.0 - - - 73.0 100 | 6.1 [62.0| 0.0 - - - 62.0
g 100 | 5.1 |165.9/20.0| - - - 85.9 100 | 3.7 [70.3|13.9| - - - 84.2
AEEFEY “— 137 4.4
ESES 100 | 6.5 |162.0/20.0| - - - 82.0 100 | 5.3 [65.0| 0.0 - - - 65.0
~ g 100 | 4.5 |168.2|18.8| - - - 87.0 100 | 2.7 |73.8|16.6| - - - 90.4
StetE 2.4 4.0
ESES 100 | 6.5 |62.0| 8.0 - - - 70.0 100 | 5.1 [65.0| 2.0 - - - 67.0
o g 100 | 2.9 |72.7/20.0| - - - 92.7 100 | 1.5 [77.3/20.0| - - - 97.3
258 “~ 156 28.3
ESES 100 | 3.5 |71.0|17.0 - - - 88.0 100 | 1.7 |77.0120.0| - - - 97.0
~ g 100 | 2.6 |74.3/19.9| - - - 94 .1 100 | 1.0 [80.0/20.0| - - - 100.0
=clXig - 35.6 127.0
ESES 100 | 3.1 |71.017.0 - - - 88.0 100 | 1.0 [80.0/20.0| - - - 100.0
g 100 | 4.2 |169.3/19.9| - - - 89.2 100 | 1.9 |76.5/19.5| - - - 96.0
LN O - 13.5 38.5
ESES 100 | 5.0 |68.0|17.0 - - - 85.0 100 | 2.3 |74.017.0| - - - 91.0
. Ha 100 | 5.0 |66.6|19.8| - - - 86.4 100 | 4.0 |69.4|14.8| - - - 84.2
SAME I 7.9 6.0
ENES 100 | 7.1 |59.0|17.0 - - - 76.0 100 | 6.5 |62.0| 0.0 | - - - 62.0
Ha 100 | 4.2 |169.5/20.0| - - - 89.5 100 | 2.9 |72.7|18.7| - - - 91.4
Ok TH KH& b 3.3 4.6
ENES 100 | 5.5 165.0/20.0| - - - 85.0 100 | 4.3 |68.0|14.0f - - - 82.0
Ha 100 | 3.6 |71.2/19.9| - - - 91.1 100 | 1.6 |76.4|20.0| - - - 96.4
S22 13.7 32.6
ENES 100 | 4.2 |68.0|17.0| - - - 85.0 100 | 2.4 |74.0/20.0| - - - 94.0
Ha 100 | 4.7 |67.5/19.8| - - - 87.3 100 | 2.7 |74.0/19.7| - - - 93.7
At - 12.6 15.1
ENES 100 | 7.1 |59.0|17.0 - - - 76.0 100 | 3.4 |71.017.0 - - - 88.0
Ha 100 | 4.4 |68.5|18.9| - - - 87.5 100 | 4.4 |68.6|16.2| - - - 84.7
A3 X = 0t 10.6 7.4
ENES 100 | 6.2 |62.0| 8.0 | - - - 70.0 100 | 6.6 |62.0| 0.0 | - - - 62.0
Ha 100 | 4.9 |66.5|/19.6| - - - 86.1 100 | 2.9 |73.4/19.4| - - - 92.8
AP CI ROk 3.3 5.5
ENES 100 | 7.5 |59.0|17.0| - - - 76.0 100 | 4.4 |68.0|17.0| - - - 85.0
~ g 100 | 3.8 |71.0/20.0| - - - 91.0 100 | 3.4 |72.0/16.0| - - - 88.0
3 S 3| A 4.4 9.2
ESES 100 | 3.8 |71.0/20.0| - - - 91.0 100 | 3.8 [71.0| 8.0 - - - 79.0
. g 100 | 5.0 |66.6|16.1| - - - 82.6 100 | 3.5 [70.8|12.5| - - - 83.3
JEAFAZE 3.4 6.1
ESES 100 | 7.5 159.0| 0.0 - - - 59.0 100 | 5.3 [65.0| 0.0 - - - 65.0
g 100 | 4.1 169.5/20.0| - - - 89.5 100 | 3.3 |71.5/20.0| - - - 91.5
ZBU2HNES 3.8 6.5
ESES 100 | 4.3 |168.0/20.0| - - - 88.0 100 | 4.3 [68.0/20.0| - - - 88.0
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g2 100 | 3.7 |69.5|17.0 - - - | 86.5 100 | 4.1 {69.5/10.0| - - - | 79.5
24BAS=0EE 2.8 4.2
ESES 100 | 4.2 |68.0|14.0 - - - | 82.0 100 | 5.0 |68.0 0.0 | - - - | 68.0
g2 100 | 2.0 |77.0/20.0| - - -1 97.0 100 | 2.9 |74.0/20.0| - - - | 94.0
SSAHEIZ 2 1.2 1.5
ESES 100 | 2.0 |77.0/20.0| - - -1 97.0 100 | 2.9 |74.0/20.0| - - - | 94.0
g2 100 | 5.0 |66.3|20.0| - - - | 86.3 100 | 4.3 |69.2|15.6| - - - | 84.8
NS-Ehin 8.8 6.3
ESES 100 | 6.4 |62.0/20.0| - - - | 82.0 100 | 7.3 |59.01 0.0 | - - - | 59.0
g2 100 | 4.7 |67.5/20.0| - - - | 87.5 100 | 4.4 |68.0|16.0| - - - | 84.0
FOotw =1t - 6.7 10.5
ESES 100 | 5.8 |65.0(20.0| - - - | 85.0 100 | 5.6 |65.01 0.0 | - - - | 65.0
_ g2 100 | 6.3 [42.8|10.0| - | 9.4 | - | 62.2 100 | 4.7 |48.014.0| - |19.2| - | 71.2
S AUl A D - 1.9 5.3
ESES 100 | 7.2 {39.0/0.0| - [ 0.0 - | 39.0 100 | 5.9 [45.0/0.0| - |18.7| - | 63.7
_ g2 100 | 5.3 |65.8|14.8| - - - | 80.5 100 | 3.4 |71.716.1| - - - | 87.8
S22 Ayl A D 4.0 5.1
ESES 100 | 6.4 |62.01 2.0 | - - - | 64.0 100 | 4.4 |68.01 0.0 | - - - | 68.0
_ g@7 100 | 5.3 |66.5|17.0| - - - | 83.5 100 | 3.4 |71.9/13.9| - - - | 85.7
oeosd3 - 8.9 6.4
B ES 100 | 5.6 |65.0/ 8.0 | - - - | 73.0 100 | 5.7 |65.0/ 0.0 | - - - | 65.0
B g@7 100 | 5.2 |66.1|15.9| - - - | 8.0 100 | 4.2 169.4|11.8| - - - | 81.2
AHREIEE — 4.8 5.4
B ES 100 | 7.8 |59.0| 0.0 | - - - | 59.0 100 | 7.4 159.0| 0.0 | - - - | 59.0
_ B g@7 100 | 5.7 |64.7|15.4| - - - | 80.1 100 | 3.9 |70.3|14.3| - - - | 84.5
SHXFLSR 4.2 6.1
B S 100 | 7.4 159.0|1 0.0 | - - - | 59.0 100 | 6.1 162.0/ 0.0 | - - - | 62.0
g2 - - - - - - - - 100 | 4.6 |68.4|17.1| - - - | 85.5
SSLESRUIELIAD - 3.5
2 E - - - - - - - - 100 | 7.0 |62.0| 0.0 | - - - | 62.0
_ g2 - - - - - - - - 100 | 4.2 |70.5/14.3| - - - | 84.8
MBS RLAH|A D - 4.1
2 E - - - - - - - - 100 | 7.8 [59.0| 5.0 | - - - | 64.0
_ g2 - - - - - - - - 100 | 4.1 170.0| 6.7 | - - - | 76.7
LALS - 2.1
25 I 100 | 5.6 |65.0/ 0.0 - | - | - | 65.0
] =k e D T N S IR S A 100 | 5.4 |70.3[10.0] - | - | - | 80.0
HAHINUKIHED— | - 1.7
25 R 100 | 9.0 [56.0{ 0.0 - | - | - | 56.0
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sty AN DALR
st 2R min’ Hl 2 2 YHIEE e = 3
= TN = LHAL| 8
SZ2 B4 |ET =ETRES
2.8 173.5/18.5 92.0 2.0196.0 96.0
Al & XHt 3.5 3.5
3.6 [71.0]17.0 88.0 96.0 96.0
_ 5.6 (81.3| - 81.3 81.3 81.3
AZHZ 15.0 15.0
6.0 180.0] - 80.0 80.0 80.0
4.0 188.0/ 0.0 88.0 88.0 88.0
e PSRN RSN 3.0 3.0
4.0 188.0/ 0.0 88.0 88.0 88.0
4.3 177.8/ 0.0 77.8 86.0 86.0
JIAHAHZ 6.0 6.0
4.9 168.0/ 0.0 68.0 84.0 84.0
3.5 177.0113.3 90.3 80.0 80.0
A BHOFA 22| D} 7.3 7.3
6.0 |74.0| 0.0 74.0 80.0 80.0
~ 4.4 172.8|9.3 82.0 84.0 84.0
ASXHAHGE 3.3 3.3
5.0 168.0| 0.0 68.0 84.0 84.0
5.0 184.0/ 0.0 84.0 84.0 84.0
Sl 10.5 10.5
6.0 |80.0| 0.0 80.0 80.0 80.0
o 5.2 \77.71 0.0 7.7 84.0 84.0
ZEHEE W 6.0 6.0
6.0 |65.0] 0.0 65.0 80.0 80.0
o 5.0 184.0/ 0.0 84.0 84.0 84.0
Ststs et 5.0 5.0
5.0 184.0/ 0.0 84.0 84.0 84.0
~ 2.019.0| 0.0 96.0 96.0 96.0
2tS skt 51.0 51.0
2.019.0| 0.0 96.0 96.0 96.0
~ 1.0 [100.0] 0.0 100.0 100.0 100.0
=cl X & 72.0 72.0
1.0 [100.0] 0.0 100.0 100.0 100.0
3.0 192.0] 0.0 92.0 92.0 92.0
ShARS D 20.0 20.0
3.0 192.0] 0.0 92.0 92.0 92.0
) 4.1173.3/13.5 86.8 80.0 80.0
SAHHA N 11.0 11.0
6.0 168.0] 0.0 68.0 80.0 80.0
2.8 176.11 9.6 85.7 92.0 92.0
Ok TH XF&! 1t 1.9 1.9
4.6 168.0/ 0.0 68.0 92.0 92.0
3.0 192.0] 0.0 92.0 92.0 92.0
S22 34.0 34.0
3.0 192.0] 0.0 92.0 92.0 92.0
2.5184.0] 8.5 92.5 88.0 88.0
A e b 11.0 11.0
4.0 180.0| 0.0 80.0 88.0 88.0
o 4.6 169.5(13.5 83.0 80.0 80.0
AFSIHI = b 1.6 1.6
6.0 |65.0] 0.0 65.0 80.0 80.0
2.6 172.5/10.0 82.5 88.0 88.0
AP CI RO 6.5 6.5
3.1171.0/10.0 71.0 88.0 88.0
~ 5.0174.2| 0.0 74.2 84.0 84.0
223 H Dt 8.0 8.0
5.0170.4| 0.0 70.4 84.0 84.0
o 4.5 168.0(110.3 78.3 85.7 85.7
ZEHH S 6.6 6.6
7.7 159.01 0.0 59.0 84.0 84.0
5.5 165.0|18.5 83.5 84.0 84.0
AU HEZ 4.5 4.5
5.7 165.0]|17.0 82.0 80.0 80.0
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27 100 | 5.0 |84.01 0.0 | - - - | 84.0 100 77.3 5.0(84.0/ - - | 84.0
24BAS=0EE - 2.0 2.0

ESES 100 | 5.0 |84.01 0.0 | - - - | 84.0 100 77.3 5.0(84.0/ - - | 84.0

2 100 | 3.4 |71.0|15.5| - - - | 86.5 100 66.3 6.0180.0| - - | 80.0
SSMTHHIAEE 0 2.3 2.3

ESES 100 | 4.1 |68.0|14.0| - - - | 82.0 100 66.1 6.0180.0| - - | 80.0

27 100 | 3.6 |74.0/ 5.6 | - - - | 79.6 100 66.4 6.0180.0| - - | 80.0
AFEI= X Bt 57 5.7

ESES 100 | 6.0 |71.01 0.0 | - - - | 71.0 100 66.4 6.0180.0| - - | 80.0

2 100 | 2.6 |74.0/10.0| - - - | 84.0 100 70.1 5.0(84.0/ - - | 84.0
S2O0tn=1t - 18.0 18.0

ESES 100 | 3.0 |74.01 0.0 | - - - | 74.0 100 63.0 6.080.0| - - | 80.0
_ 2 100 | 4.0 [68.0/ 0.0 - [ 0.0 - | 68.0 100 80.6 4.068.0/ 0.0 - | 68.0
S AEIA D - 3.5 3.5

ESES 100 | 4.0 [68.0/ 0.0 - [ 0.0 - | 68.0 100 80.6 4.0/68.0/ 0.0 | - | 68.0
_ 27 100 | 4.5 |{86.01 0.0 | - - - | 86.0 100 76.4 5.0(84.0/ - - | 84.0
S22 Ayl A D 3.9 3.9

ESES 100 | 6.0 |80.0 0.0 | - - - | 80.0 100 64.9 6.0180.0| - - | 80.0
_ g@7 100 | 4.1 |77.5/0.0| - - - | 77.5 100 71.0 5.0 184.0) - - | 84.0
oeosd3 — 5.3 5.3

B ES 100 | 5.0 |71.0/ 0.0 | - - - | 71.0 100 71.0 5.0 184.0) - - | 84.0
B g@7 100 | 4.4 172.3/0.0| - - - | 72.3 100 61.0 7.0176.0f - - | 76.0
SIHREIES - 11.4 1.4

B ES 100 | 7.0 |68.0| 0.0 | - - - | 68.0 100 61.0 7.0176.0f - - | 76.0
_ B g@7 100 | 4.1 178.3/10.0| - - - | 88.3 100 71.4 5.0 184.0) - - | 84.0
SHXFLSR 6.0 6.0

B S 100 | 5.0 |68.0| 0.0 | - - - | 68.0 100 70.1 5.0 184.0) - - | 84.0

B - - - -] -] - - - - -1 -1-71 -
SSLESRUIELIAD - -

EE - - - - - -] - - - - - ] -

B - - - -] -] - - - - -1 -1-71 -
AMBISX LA A D = - -

e - - -] -] - - - - - - - -
QLS - -

2= - - - - - -] - - - - - - -] - -

B -l -T-1-T-1-7 - - - - - - -
LAAHOMLIKED— — - -
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